Exam 1




Name:  





CHM 2210

Fall 2009

MC:  Pick the best answer

1. If you add a liquid alkane to a beaker of water which would float to the top?

a. H2O

b. The alkane

2. Which of the following conformers of propane is the most stable?

a. Staggered

b. Skew

c. Eclipsed
3. Which of the following is a saturated compound?
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4. Which of the following is a constitutional isomer of pentane?
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5. Are alkanes hydrophobic or hydrophilic?

a. Hydrophobic

b. Hydrophillic
6. Which of the following is a ketone?
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7. Which of the following is an alkene?
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8. Which of the following is an amide?
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LA 1:  Which of the following is the major and minor resonance structure (LABEL), explain WHY?

H2CCHO-
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WHY?

LA 2:  Rank the following from lowest to highest melting point and explain WHY?

2,2-dimethylpropane

Pentane

2-methylbutane
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LA 3:  Name or draw the following organic compounds
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2,2,3-trimethylpentane

1-ethyl-2-(1-methylethyl)cyclobutane

5-t-butyl-3-ethyl-4-methyloctane
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LA 4:  Draw the most stable and one less stable chair conformation for the following and explain WHY?  Make sure you show all hydrogens and to have axial and equatorial positions apparent

Cis-1-t-butyl-3-ethylcyclohexane 

Most Stable





Less Stable

WHY?
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